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Built in predicates in prolog

Type checking predicates:

The following list of built in predicates are used when checking the types of a given argument or terms. The predicates include:

atom/1: Usage: atom(argument) 

Succeeds if argument is either an atom or a variable that has been previously instantiated to an atom.  We can use this predicate to check whether the given argument is an atom or not.

Examples 

?- atom(abc).
yes





?- A = abc, atom(A).



       

A = abc ;




      

Yes




 
?- atom(male(abebe)).






No

compound/1: Usage: compound(argument) 

Succeeds if argument is instantiated to a structured data object (predicate (compound term) or a list). We can use this predicate to check whether the given argument is a predicate, list or not.

Examples 




?- compound(a(X)).




Yes



?- compound([a, B]).




Yes




?-compount(abebe).




No
float/1, integer/1, number/1: Usage: float(argument), integer(argument), number(argument).

float/1 will succeed if argument is a float number or a variable that has been previously instantiated to a float.

integer/1 will succeed if argument is an integer or a variable that has been previously instantiated to an integer.

number/1 will succeed if argument is a number (either integer or float) or a variable that has been previously instantiated to a number,  

Examples 




?- float(12.23)).




Yes



?- integer(5).




Yes




?-float(abebe).




No




?-integer(animal(dog)).




No



?-number(3).





Yes

var/1,nonvar/1: Usage: var(argument), nonvar(argument)  
var/1 will succeed if argument is an uninstantiated variable. Note that if a variable has been previously instantiated (given a value), then var/1 will fail. We can use this predicate to check whether the given argument is a variable.

Examples 




?- A = abc, var(A).  % A has a value there fore  prolog will answer no




No



?- var(solomon).      % solomon is not a variable so prolog will answer no




No




?-var(X).





Yes
nonvar/1 will succeed if argument is not an uninstantiated variable. Note that if a variable has been previously instantiated, then nonvar/1 will succeed. We can use this predicate to check whether the given argument is not variable.

Examples 




?- A = abc, nonvar(A).




Yes



?- nonvar(solomon).  % solomon is not a variable so prolog will answer yes




Yes




?-nonvar(X).
Input and output predicates
The following list of built in predicates are used for inputting and outputting terms in prolog.

write/1: Usage: write(argument) 

Displays the argument in the bracket, to the current output stream (the system prompt). The argument must be a valid prolog term or a text enclosed in a single quotes.

Examples 

?- write(abc).
abc




?- write(‘the day is very hot’).



       

The day is very hot

read/1: Usage: read(variable) 

Requires the user to input a valid prolog term and unifies (assigns) the entered term to the variable in the bracket.

Examples 

?- read(Abc).     % the term in the brace must be a variable.




|: ‘the day is hot’ % it waits for the user to input a valid term





X = the day is hot % X is assigned the entered term
?- read(animal(X)).     





|: animal(dog). 





X = animal(dog) 

nl/0: Usage: nl 

prints a new line to the current output stream (the system prompt). 

?- write(a) , nl , write(b).     
put/1: Usage: put(argument) 

Is used to output characters to the system prompt. The argument is an ASCII code representing the character to be displayed and is a numeric values from 0 – 255.

ASCII code of a, N and \ is 97, 78 and 92 respectively

Examples 

?- put(97).
a




?- put(78).

N

?- put(92).

\

get/1, get0/1: Usage: get(Variable), get0(Variable) 

Is used to input characters from the system prompt. Requires the user to enter a single character and assigns the ASCII code of the inputted character to the variable.

Examples 

?- get(X).     



       |: a
    % no full stop is necessary here.




       X = 97 
?- get0(M).     



        |: \
% no full stop is necessary here.




       X = 92

Exercise
1. Write a prolog program that displays “hello world”.

2. Write a prolog program that prompts you for your name, then accepts you name and displays “ Hello <your name> 




Welcome to prolog”

PAGE  
3

